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Exercise

1. The electrode potential measure the :

A. Tendency of the electrode to gain or lose electrons

B. Tendency of the cell reaction to occur

C. Difference in the ionisation potential of electrode and metal ion

D. Current carried by an electrode

Answer: A

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4ouBrFj2JI6e


Watch Video Solution

2. Which is the correct representation for Nernst equation :

A. E_rp = E°_rp + 0.059/n log [oxidant]/[reductant]

B. E_op = E°_op + 0.059/n log [oxidant]/[reductant]

C. E_op = E°_op + 0.059/n log [reductant]/[oxidant]

D. All of these

Answer: D

Watch Video Solution

3. The factor temperature coefficient for emf is :

A. (∆E/∆T)_p

B. (∆E/∆P)_t

C. (∆E/∆V)_t

https://dl.doubtnut.com/l/_4ouBrFj2JI6e
https://dl.doubtnut.com/l/_S8Pc3RpXMuQf
https://dl.doubtnut.com/l/_2dA8dYOnd0XD


D. None

Answer: A

Watch Video Solution

4. The emf of a voltaic cell is negative. So oxidation and reduction process

respecttively can be written at the :

A. LHE,RHE

B. RHE,LHE

C. Both(a)and(b)

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2dA8dYOnd0XD
https://dl.doubtnut.com/l/_o5XeRqDMkHmN


5. Silver from silver nitrate is deposited by copper, because :

A. E°( / )ltE°( / )

B. E°( / )ltE°( / )

C. E°( / )-E°( / )

D. None

Answer: B

Watch Video Solution

Cu2 + cu Ag+ Ag

Ag+ Ag Cu2 + Cu

Cu2 + Cu Ag+ Ag

6. Standard reduction potential for,

 is -3.05,-0.762,0.00 and +80V.

Which has highest reducing capacity?

A. 

B. 

C. 

Li+Li, Zn2 +Zn, H +H2 and Ag+Ag

Ag

H2

Zn

https://dl.doubtnut.com/l/_JhDtC7zwwkl4
https://dl.doubtnut.com/l/_Cgb3cKICbngq


D. 

Answer: D

Watch Video Solution

Li

7. Which one is correct:

A.  displace Zinc from its solution

B.  displace iron from its solution

C.  displacecopper from its solution

D.  displace nickel from its solution

Answer: B

Watch Video Solution

Ni

Zn

Ag

Cu

8. An unit of charge is :

https://dl.doubtnut.com/l/_Cgb3cKICbngq
https://dl.doubtnut.com/l/_KNUFDj23eXTp
https://dl.doubtnut.com/l/_BegeGpvLckKR


A. volt

B. ampere

C. coulomb

D. None

Answer: C

Watch Video Solution

9. The standard reduction potential of some electrodes are,E°(  / 

)=-2.9 V , E°(  / )=-0.76 V , E°( / )=-0.00 V , E°(  / 

)=+0.34 V.The strongest oxidant is:

A. Copper

B. Zinc

C. Hydrogen

D. 

K + K

Zn2 + Zn H + H2 Cu2 + Cu

Cu2 +

https://dl.doubtnut.com/l/_BegeGpvLckKR
https://dl.doubtnut.com/l/_RRYRehG2jasB


Answer: D

Watch Video Solution

10. In galvanic cell,the salt bridge is used to:

A. Complete the circuit

B. To reduce liquid junction potential in the cell

C. Separate cathode solution from anode solution

D. Carry salts for chemical reactions to occur in cell

Answer: B

Watch Video Solution

11. A current of 2 ampere was passed through solution of  and 

 in series.`0.635 g of copper was deposited .Then the weight of

silver deposited will be:

CuSO4

AgNO3

https://dl.doubtnut.com/l/_RRYRehG2jasB
https://dl.doubtnut.com/l/_rQs1okUriapL
https://dl.doubtnut.com/l/_rvWAGVBy4k48


A. 0.59g

B. 3.24g

C. 1.08g

D. 2.16g

Answer: D

Watch Video Solution

12. The emf of the cell involving following changes

. The standard

emf of the cell is :

A. 0.540 V

B. 0.481

C. 0.5696

D. 0.5105

Zn(s) + Ni2 + (1M) → Zn2 + (1M) + Ni(s)is0.5105V

https://dl.doubtnut.com/l/_rvWAGVBy4k48
https://dl.doubtnut.com/l/_xlW2HXM7TiWC


Answer: D

Watch Video Solution

13. A current of 2.6 ampere was passed through  solution for 380

sec. The amount of Cu deposited is (at .wt. of Cu (63.5):

A. 0.325g

B. 0.635g

C. 6.35g

D. 3.175g

Answer: A

Watch Video Solution

CuSO4

14.  values of  is -2.37V, of  is -0.76V and 

 is -0.44V. 


E ∘ Mg2 + /Mg Zn2 + /Zn

Fe2 + /Fe

https://dl.doubtnut.com/l/_xlW2HXM7TiWC
https://dl.doubtnut.com/l/_1rLEtPMAEBef
https://dl.doubtnut.com/l/_5HuUc8PT1a5X


Which of the following statement is correct ?

A.  oxidises 

B.  oxidises 

C.  reduces 

D.  reduces 

Answer: D

Watch Video Solution

Mg Fe

Zn Fe

Zn Mg2 +

Zn Fe2 +

15. On passing electricity through dilute  solution the amount of

substance liberated at the cathode and anode are in the ratio:

A. 1:8

B. 8:1

C. 16:1

D. 0.052777777777778

H2SO4

https://dl.doubtnut.com/l/_5HuUc8PT1a5X
https://dl.doubtnut.com/l/_8G6czclSWt9B


Answer: A

Watch Video Solution

16. Passage of 96500 coulmb of electricity liberates…….. Litre of  at NTP

during electrolysis :

A. 5.6

B. 6.5

C. 22.2

D. 11.2

Answer: A

Watch Video Solution

O2

17. During electrolysis of an aqueous solution of  sulphate , 0.635 g

of copper was deposited at cathode. The amount electricity consumed in

Cu2 +

https://dl.doubtnut.com/l/_8G6czclSWt9B
https://dl.doubtnut.com/l/_eoSEHQraFOdd
https://dl.doubtnut.com/l/_uY4QNyZnx299


coulomb is :

A. 1930

B. 3860

C. 96500

D. 4825

Answer: A

Watch Video Solution

18. The number of electrons involved in redox reactions when 1 faraday of

electricity is passed through an electrolyte in solution is :

A. 6*10^23

B. 8*10^19

C. 96500

D. 6*10^-23

https://dl.doubtnut.com/l/_uY4QNyZnx299
https://dl.doubtnut.com/l/_Q79jV4vEmjgK


Answer: A

Watch Video Solution

19. If , E=-2.37V , , E=.+0.34V ?

Write the line notation (cell diagram) for the cell and calculate cell emf.

A. 2.71V

B. 2.30V

C. 2.80V

D. 1.46V

Answer: A

Watch Video Solution

Mg2 + + 2e → Mg(s) Cu2 + + 2e → Cu(s)

20. A certain quantity of electricity is passed through aqueous solution of

 and  connected in series, If Ag ( at. Wt. 108 ) deposited atAgNO3 CuSO4

https://dl.doubtnut.com/l/_Q79jV4vEmjgK
https://dl.doubtnut.com/l/_HTTFrYY1Vvyc
https://dl.doubtnut.com/l/_wWZmkQWCilpx


the cathode is 1.08 g then Cu deposited at the cathode is (at. wt. of Cu is

63.53):

A. 6.354

B. 0.317

C. 0.6354

D. 3.177

Answer: B

Watch Video Solution

21. Which of the following statement is wrong ?

A.  has different molar cunductance at infinite dilution in 

and 

B. degree of dissociation(alpha)=Y_(c)/Y_(m)

C. Kohlaraush law is used to find value for weak electrolytes

Na+ Nacl

NaBr

https://dl.doubtnut.com/l/_wWZmkQWCilpx
https://dl.doubtnut.com/l/_4AglVM149M9W


D. 

Answer: A

Watch Video Solution

(H2SO4) = 2(H +SO
− 2
4 )

22. When same quantity of current is passed through two different

electrolytes connected in series, the amount of products liberated at the

electrodes are in the ratio of their.

A. atomic mass

B. equivalent mass

C. molecular mass

D. atomic number

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4AglVM149M9W
https://dl.doubtnut.com/l/_ZmNW9SXuj1hn
https://dl.doubtnut.com/l/_9VeGUh8hae6J


23. The unit of electrochemical equivalent is :

A. gm/coulomb

B. gm/ampere

C. coulomb/gm

D. gm/coulomb

Answer: A

Watch Video Solution

24. A current of 0.75A is passed through an acidic  for 10 min. the

volume of oxygen liberated at anode at STP will be

A. 0.261cc

B. 26.1cc

C. 52.2cc

D. 0.522cc

CuSO4

https://dl.doubtnut.com/l/_9VeGUh8hae6J
https://dl.doubtnut.com/l/_Ruxy8NspKff8


Answer: B

Watch Video Solution

25. The best conductor of electricity is a 1M solution of

A. boric acid

B. acetic acid

C. oxalic acid

D. sulphuric acid

Answer: D

Watch Video Solution

26. Which will be decomposed when electric current is passed through its

aqueous solution?

https://dl.doubtnut.com/l/_Ruxy8NspKff8
https://dl.doubtnut.com/l/_5wY0rMeRraJa
https://dl.doubtnut.com/l/_FvgY68J0rfTH


A. glucose

B. urea

C. common salt

D. benzene

Answer: C

Watch Video Solution

27. The degree of dissociation of , can be increased by

A. adding more  to the solution

B. adding more water to the solution

C. decreasing temerature of the solution

D. stirring the solution vigorusly

Answer: B

Watch Video Solution

CH3COOHSoln

CH3COOH

https://dl.doubtnut.com/l/_FvgY68J0rfTH
https://dl.doubtnut.com/l/_1jxs5IMvAntK


28. The limiting molar conductance of NaCl,KBr,KCl are 126,152 and 150

 respectively. The limiting molar conductance of

NaBr is-

A. 120

B. 302

C. 428

D. 176

Answer: A

Watch Video Solution

ohm− 1cm2mo ≤− 1

29. The passage of current through the solution of a certain electrolyte

results in the liberation of  at the cathode and  gas at anode. The

solution in the container could not be

H2 Cl2

https://dl.doubtnut.com/l/_1jxs5IMvAntK
https://dl.doubtnut.com/l/_MNurCnhrV7iO
https://dl.doubtnut.com/l/_EXgNjvCJHYxs


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Nacl(aq)

Kcl(aq)

CaCl2(aq)

MgCl2(aq)

30. Which of the following solutions of  has the largest value of molar

conductance ?

A. 0.1M

B. 0.01M

C. 0.001M

D. 1M

Answer: C

kcl

https://dl.doubtnut.com/l/_EXgNjvCJHYxs
https://dl.doubtnut.com/l/_TV2asCnLBkXM


Watch Video Solution

31. The mass of a substance liberated at the electrode is directly

proportional to its-

A. atomic mass

B. equivalent mass

C. molecluar mass

D. none of these

Answer: B

Watch Video Solution

32. Standard electrode potentials are : / , , /

,  . ,  and  block are kept together, then

A.  increases

Fe+ 2 Fe E° = − 0.44V Fe+ 3

Fe2 + E° = 0.77V Fe+ 2 Fe+ 3 Fe

Fe+ 3

https://dl.doubtnut.com/l/_TV2asCnLBkXM
https://dl.doubtnut.com/l/_sqJJejpDe50c
https://dl.doubtnut.com/l/_SVsyUJdTvixD


B.  decreases

C.  /  remains unchanged

D.  decreases

Answer: B

Watch Video Solution

Fe+ 3

Fe+ 2 Fe+ 3

Fe

33. A galvanic cell with electrode potential of zinc = +0.76V and of copper

= 0.34V . The E.M.F is

A. 0.76V

B. 0.34V

C. 1.1V

D. -1.1V

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SVsyUJdTvixD
https://dl.doubtnut.com/l/_i3t33jbTc8Mo


34. The unit of equivalent conductance is

A.  (equivalent)

B.  (g-equivalent)

C. 

D. 

Answer: A

Watch Video Solution

ohm− 1cm2

ohmcm2

ohmcm2

ohm− 1m− 1

35. The standard reduction potential for  and 

electrodes are  and  respectively. For the cell reaction, 

, the standard emf is :

A. 0.30V

B. -0.30V

Fe2 + ∣ Fe Sn2 + ∣ Sn

−0.44V −0.14V

Fe2 + + Sn → Fe + Sn2 +

https://dl.doubtnut.com/l/_i3t33jbTc8Mo
https://dl.doubtnut.com/l/_M7e5f4LkLshs
https://dl.doubtnut.com/l/_wlDftsTunnzy


C. 0.58V

D. -0.58V

Answer: A

Watch Video Solution

36. Total charge on 1 mole of a monovalent metal ion is equal to :

A. 9.65 *10^4 coulombs

B. 1.6*10^-19coulombs

C. 6.2*10^18coulombs

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wlDftsTunnzy
https://dl.doubtnut.com/l/_qt3W2SXai9qB


37.  for the half cell reactions are as,








The  for the cell reaction.


:

A. -120V

B. 0.32V

C. -0.32V

D. 1.20V

Answer: B

Watch Video Solution

E ∘

Zn → Zn2 + + 2e, E ∘ = + 0.76V

Fe → Fe2 + + 2e, E ∘ = + 0.41V

E ∘

Fe2 + + Zn → Zn2 + + Fe

38. without losing its concentration  solution can not be kept in

contact with

ZnCl2

https://dl.doubtnut.com/l/_rM0CqZAPhrF8
https://dl.doubtnut.com/l/_t9sjmI0soVRh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Au

Al

Pb

Ag

39.  grams of chlorine can be prepared by the electrolysis of

molten sodium chloride with 10 amperes current passed for 10min.

A. 2.2

B. 4.4

C. 3.8

D. 5

Answer: A

…………

https://dl.doubtnut.com/l/_t9sjmI0soVRh
https://dl.doubtnut.com/l/_hl3ISCybwBOA


Watch Video Solution

40. The unit of cell constant is 

A. 

B. 

C. 

D.  /gm equivalent

Answer: B

Watch Video Solution

…………..

ohm− 1cm2

cm− 1

ohm− 1cm− 1

ohm− ( 1 ) cm2

41. 96500 Coulomb will deposite  of metal.

A. one electrochemical equivalent

B. one gm

C. one gm equivalent

………………….

https://dl.doubtnut.com/l/_hl3ISCybwBOA
https://dl.doubtnut.com/l/_dBYt9EIi87Gd
https://dl.doubtnut.com/l/_b2LWywuSnAd0


D. one gm molecular mass

Answer: C

Watch Video Solution

42. Which is the strongest reducing agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn(s)

Cr(s)

H2(g)

Fe2 + (aq)

https://dl.doubtnut.com/l/_b2LWywuSnAd0
https://dl.doubtnut.com/l/_rAabN0BVbyNI


43. four alkali metals A, B, C, D are having respectively standard electrode

potential as -3.05 v -1.66, 0.8 and - 0.40 v.which one will be more reducing?

A. A

B. B

C. C

D. D

Answer: A

Watch Video Solution

44. Given: 

 , E° = 1.5 V. 

, E° =1.69V The reduction potential for /  is

A. -1.405 V

B. 1.405 V

Au+ 3 + 3e → Au

Au+ + e → Au Au+ 3 Au+

https://dl.doubtnut.com/l/_8hPJQK5ZDHJg
https://dl.doubtnut.com/l/_qjooozV3DHaG


C. 0.405V

D. 0.469 V

Answer: B

Watch Video Solution

45. Given l/a=0.5 ,R=50 ohm, N=1.0. The equivalent conductance of

the electrolytic cell is

A. 10 

B. 

C. 300 

D. 100 

Answer: A

Watch Video Solution

cm− 1

ohm− 1cm2gmeq− 1

20ohm− 1cm2gmeq− 1

ohm− 1cm2gmeq− 1

ohm− 1cm2gmeq− 1

https://dl.doubtnut.com/l/_qjooozV3DHaG
https://dl.doubtnut.com/l/_EMJejiw0Zsbq
https://dl.doubtnut.com/l/_2QZWnORXGcfH


46. Which of the following expression is correct ?

A. ∆G°=-nFE°cell

B. ∆G°=+nFE°cell

C. ∆G°=-2.303 RTnFE°cell

D. ∆G°=-nFlog Kc

Answer: A

Watch Video Solution

47. Two electrochemical cells  and 

 are connected in series. Write the cell reaction in

each case. What will be the net e.m.f of the cell at 25°C given ,

=-0.76V , =+0.34V, =-0.41V

Watch Video Solution

Zn∣∣Zn
+ 2∣∣∣∣Cu

+ 2∣∣Cu

Fe∣∣Fe
+ 2∣∣∣∣Cu

+ 2∣∣Cu

Zn+ 2 ∣ Zn

Cu+ 2 ∣ Cu Fe+ 2 ∣ Fe

https://dl.doubtnut.com/l/_2QZWnORXGcfH
https://dl.doubtnut.com/l/_SvHYFFnuHu8k


48. The reduction potential values of M, N and O are +2.46,- 1.13 and 3.13 V

respectively. Which of the following order is correct regarding their

reducing property?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O > N > M

O > M > N

M > N > O

N > M > O

49. The standard electrode potential of a hydrogen electrode is

A. 0.059V

B. 1V

C. 0.5V

https://dl.doubtnut.com/l/_DDberRd9WJwE
https://dl.doubtnut.com/l/_ZUelVR5lGj79


D. 0.00V

Answer: C

Watch Video Solution

50.  /  = - 0.76V, 

 /  = - 0.25V, E°cell = _____

A. 0.51V

B. -0.51V

C. 1.01V

D. none

Answer: A

Watch Video Solution

Zn2 + (aq) + 2e → Zn(s) E°(Zn2 + Zn)

Ni2 + (aq) + 2e → Ni(s) E°(Ni2 + Ni)

https://dl.doubtnut.com/l/_ZUelVR5lGj79
https://dl.doubtnut.com/l/_vdGidiWBOaiW


51. Electrolytes conduct electricity due to movement of-

A. atoms

B. ions

C. electrons

D. molecules

Answer: B

Watch Video Solution

52. which of the following may not be present in all galvanic cell

A. electrolyte

B. anode

C. cathode

D. salt bridge

https://dl.doubtnut.com/l/_TJxQ2AdIMDMA
https://dl.doubtnut.com/l/_ZxpKVe49SIph


Answer: D

Watch Video Solution

53. 1F charge will produce 1 mole of metal from the electrolyte

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

MgCl2

KCl

CuSO4

54. What amount of electricity is required to deposite 1mole copper from

a solution of  ?CuSO4

https://dl.doubtnut.com/l/_ZxpKVe49SIph
https://dl.doubtnut.com/l/_08P1FqcLRtAO
https://dl.doubtnut.com/l/_4LNFgPR0WL8B


A. 2F

B. 1F

C. 3F

D. 0.5F

Answer: A

Watch Video Solution

55. the metal with greater oxidation potential is

A. strongest oxidant

B. stronger reductant

C. easily reduced

D. can't be predicted

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4LNFgPR0WL8B
https://dl.doubtnut.com/l/_rA1EZLNu8CZ0


56. The electrolytic products of aqueous solution of  are

A.  , 

B.  , 

C.  , 

D. 

Answer: C

Watch Video Solution

NaF

Na F2

Na O2

H2 O2

H2, F2

57. The exact value of emf of cell can be measured by means of

A. potentiometer

B. galvanometer

C. polarimeter

https://dl.doubtnut.com/l/_rA1EZLNu8CZ0
https://dl.doubtnut.com/l/_ZRXDJlXJw1pg
https://dl.doubtnut.com/l/_A66i0OwNhb2B


D. ammeter

Answer: A

Watch Video Solution

58. The unit of equivalent conductance is

A. ohm

B. 

C. 

D. 

Answer: B

Watch Video Solution

ohm− 1cm2gmeq− 1

ohm− 1cm− 2

ohmcm− 2gmeq− 1

59. The charge carried by one mole electron is

https://dl.doubtnut.com/l/_A66i0OwNhb2B
https://dl.doubtnut.com/l/_FkaQWPAKAlnt
https://dl.doubtnut.com/l/_VSLQoIJEZdKs


A.  x  coulomb

B.  x  coulomb

C.  x  coulomb

D.  x  coulomb

Answer: C

Watch Video Solution

1.6 10− 19

6.28 1018

9.65 104

6.023 1028

60. Which of the following solutions can be stored in copper vessel?

A. 

B. 

C. 

D. all of these

Answer: C

Watch Video Solution

AgNO3

AuCl3

ZnCl2

https://dl.doubtnut.com/l/_VSLQoIJEZdKs
https://dl.doubtnut.com/l/_soUhkxKy82qi


61. out of , ,  and  the metal which can displace all others

from their aqueous salt solution is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CuAg Zn Mg

Cu

Zn

Ag

Mg

62. The number of faradays required to deposit 9gm  from a solution of

 will be

A. 1

B. 2

Al

AlCl3

https://dl.doubtnut.com/l/_soUhkxKy82qi
https://dl.doubtnut.com/l/_DbHtX7STxmzj
https://dl.doubtnut.com/l/_XcihF3ax0TpM


C. 3

D. 4

Answer: C

Watch Video Solution

63. during electrolysis the reaction occurs at cathode is

A. reduction

B. oxidation

C. redox

D. hydrolysis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XcihF3ax0TpM
https://dl.doubtnut.com/l/_cZzdA7TkUNGz


64. For a redox reaction to be spontaneous, the EMF should be

A. -ve

B. +ve

C. zero

D. any one of these

Answer: B

Watch Video Solution

65. The electrode potential of normal hydrogen electrode is

A. 0 volt

B. 1 volt

C. 10volt

D. 0.1 volt

https://dl.doubtnut.com/l/_i1qCQ1m4siCp
https://dl.doubtnut.com/l/_48wNNDODtxdM


Answer: A

Watch Video Solution

66. The standard reduction potentials at 25°C of  | ,  | , 


|  and |  are -3.05,-2.76,-2.61 and -2.37 V

respectively.which is strongest reducing agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Li+ Li Ba2 + Ba

Na+ Na Mg2 + Mg

Li

Ba

Na

Mg

https://dl.doubtnut.com/l/_48wNNDODtxdM
https://dl.doubtnut.com/l/_mojystON7Rdg


67. The standard reduction electrode potentials of the metals A,B and C

are 0.68,-2.50 and -0.50V respectively.The order of their reducing power is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A > B > C

A > C > B

C > B > A

B > C > A

68. The standard reduction potential for  | Sn^(2+) Sn

Fe^(2+) + Sn to Fe + Sn(2+)`, the standard EMF is

A. 0.30V

B. 0.58V

Fe2 + Fe∣ and ∣

e ≤ ctrodesare − 0.44V and − 0.14V respectively. F or thecellreaction,

https://dl.doubtnut.com/l/_S8SBKyLDQae3
https://dl.doubtnut.com/l/_O85SlO9j8IX9


C. 0.58V

D. -0.30V.

Answer: D

Watch Video Solution

69. 3 Faraday of electricity is passed through molten , aqueous

solution of  and molten  taken in three different electrolytic

cells . The amount of ,  and  deposited at the cathodes will be in

the ratio of :

A. 1mole :2mole:3mole

B. 3mole:2mole:1mole

C. 1mole :1.5mole:3mole

D. 1.5 mole :2 mole : 3 mole

Answer: C

W t h Vid S l ti

Al2O3

CuSO4 NaCl

Al Cu Na

https://dl.doubtnut.com/l/_O85SlO9j8IX9
https://dl.doubtnut.com/l/_a92C1QZO0Wg8


Watch Video Solution

70. An electrolytic cell contains a solution of  and Platinum

electrodes a current is passed until 1.6 gm of  has been liberated at

anode.The amount of  deposited at cathode would be

A. 1.6g

B. 6.5g

C. 13g

D. 3.2g

Answer: C

Watch Video Solution

ZnSO4

O2

Zn

71. unit of equivalent conductance is______

Watch Video Solution

https://dl.doubtnut.com/l/_a92C1QZO0Wg8
https://dl.doubtnut.com/l/_9Dp0m5Dc9bDn
https://dl.doubtnut.com/l/_0nV6YYbRZk1R
https://dl.doubtnut.com/l/_8ETg6kP9LX7F


72. molten sodium chloride conducts electricity due to the presence

of_______

Watch Video Solution

73. _____reacts with dilute sulphuric acid

Watch Video Solution

74. non electrolytes are_____

Watch Video Solution

75. The process of splitting up of electrolytes into the  and  ions

are called______.

Watch Video Solution

+ve −ve

https://dl.doubtnut.com/l/_8ETg6kP9LX7F
https://dl.doubtnut.com/l/_G1dFvza8ytcB
https://dl.doubtnut.com/l/_UIi7FpyK521u
https://dl.doubtnut.com/l/_ApZqDFJK4Jsq
https://dl.doubtnut.com/l/_xeM7Mq1FfcbC


76. For strong electtolytes degree of ionisation is __________.

Watch Video Solution

77. for weak electrolytes degree of ionisation is_____

Watch Video Solution

78. Ostwald's dilution law is applicable for____

Watch Video Solution

79. I coulonmb=________x 1 second.

Watch Video Solution

80. electrical energy = _____× quantity of charge

https://dl.doubtnut.com/l/_xeM7Mq1FfcbC
https://dl.doubtnut.com/l/_um6nTqhL4dJX
https://dl.doubtnut.com/l/_CGRTHCsCYnEb
https://dl.doubtnut.com/l/_nBUY33eFxgja
https://dl.doubtnut.com/l/_VJdx0F2DfjxX


Watch Video Solution

81. electrometallurgy is application of______

Watch Video Solution

82. current efficiency= ______× 100%

Watch Video Solution

83. the reciprocal of specific resistance is known as_______

Watch Video Solution

84. Units of specific conductivity are _________.

Watch Video Solution

https://dl.doubtnut.com/l/_VJdx0F2DfjxX
https://dl.doubtnut.com/l/_8hjnP2AhKx3U
https://dl.doubtnut.com/l/_lNgIL1du9FPg
https://dl.doubtnut.com/l/_ZY2qTT6uljoD
https://dl.doubtnut.com/l/_wAuEPSoh3aFd
https://dl.doubtnut.com/l/_K378xoju4eSs


85. molar conductivity = _____× Vm

Watch Video Solution

86. Structure of glucose ,urea and ethyl alcohol all are

Watch Video Solution

87. electro chemical cell is also known as_______

Watch Video Solution

88. Relation between standard e.m.f. of a cell and equilibrium constant is

________.

Watch Video Solution

https://dl.doubtnut.com/l/_K378xoju4eSs
https://dl.doubtnut.com/l/_95bfIjCTtDnW
https://dl.doubtnut.com/l/_Ph77bmYdLkhT
https://dl.doubtnut.com/l/_hgSHnjhC1aPq


89. in an electrochemical cell reduction takes place at_____

Watch Video Solution

90. Charge on  ion is_____

A. -1

B. +2

C. -2

D. -3

Answer: 3.2×10^(-19) C

Watch Video Solution

CO3

91. electrolytes are _______compounds

Watch Video Solution

https://dl.doubtnut.com/l/_jNHkRsqabQF3
https://dl.doubtnut.com/l/_XfjQWHuhCGBC
https://dl.doubtnut.com/l/_BFyUzQ4NQjLB


92. acids, bases and salts are examples of_____

A. strong electrolytes

B. weak electrolytes

C. non electrolytes

D. electrolytes

Answer: electrolytes

Watch Video Solution

93. Daniel cell is an example of_____

Watch Video Solution

94. Electroplated silver spoon acts as _____in a cell.

Watch Video Solution

https://dl.doubtnut.com/l/_BFyUzQ4NQjLB
https://dl.doubtnut.com/l/_tUMygjVY3ddX
https://dl.doubtnut.com/l/_pU4bRA94Peab
https://dl.doubtnut.com/l/_qRKygutfil9R


95. electrolytes having low electrical conductance are known as_____

Watch Video Solution

96. electrolytes having high electrical conductance are known as_____

Watch Video Solution

97. the potential of standard hydrogen electrode is_____

Watch Video Solution

98. 1 mole of electrons have charge______

Watch Video Solution

https://dl.doubtnut.com/l/_qRKygutfil9R
https://dl.doubtnut.com/l/_xO8GblXUHiTG
https://dl.doubtnut.com/l/_VpRL7qVyGQro
https://dl.doubtnut.com/l/_jWYbiAFYb9jl
https://dl.doubtnut.com/l/_RftrZG630XTk


99. dry cells like Leclanche cell, Mercury cells are _____cells

Watch Video Solution

100. hydrogen-oxygen cell is a_____ cell

Watch Video Solution

101. ∆G is related to______ of the cell

Watch Video Solution

102. In electrochemical cell oxidation takes place at_____

Watch Video Solution

103. The best electronic conductor is _______.

https://dl.doubtnut.com/l/_MTebxrl8dQdh
https://dl.doubtnut.com/l/_Vv6r469hf2h3
https://dl.doubtnut.com/l/_FvhJ038pEb7b
https://dl.doubtnut.com/l/_ZBra63Twr63O
https://dl.doubtnut.com/l/_rDkMEkVgbly0


Watch Video Solution

104. EMF of the cell when the cell reaction attains equilibrium is_____

Watch Video Solution

105. ______is the tendency of electrode to loose or gain

Watch Video Solution

106. galvanic cell is an _____

Watch Video Solution

107. Galvanic cell converts _______ into______.

Watch Video Solution

https://dl.doubtnut.com/l/_rDkMEkVgbly0
https://dl.doubtnut.com/l/_vfgLKejlZmUe
https://dl.doubtnut.com/l/_EgfJgh35u1ZM
https://dl.doubtnut.com/l/_puyyPccdtBFA
https://dl.doubtnut.com/l/_omJHtSsfhC9o
https://dl.doubtnut.com/l/_ehgaJHVDtMm6


108. determination of degree of dissociation of weak electrolyte is

application of_____ law

Watch Video Solution

109. specific conductance = ______ x _______

Watch Video Solution

110. unit of cell constant is____

Watch Video Solution

111. Molar conductance for weak electrolyte on dilution_______.

Watch Video Solution

https://dl.doubtnut.com/l/_ehgaJHVDtMm6
https://dl.doubtnut.com/l/_i9jTdNKkSVBw
https://dl.doubtnut.com/l/_mYVl378lBp3n
https://dl.doubtnut.com/l/_XWabZwOrxjb3


112. Equivalent conductance for weak electrolyte on dilution ________.

Watch Video Solution

113. charge on one mole of electron is_____

Watch Video Solution

114. Calculation of EMF of a cell and prediction of reactivity of metals are

applications of______

Watch Video Solution

115. acetic acid is_____ electrolyte

Watch Video Solution

https://dl.doubtnut.com/l/_HkZg89nmC6n9
https://dl.doubtnut.com/l/_24Gr1IEnVaOY
https://dl.doubtnut.com/l/_BTRPD7zesF1P
https://dl.doubtnut.com/l/_DzPHlD43Am15


116. 1 coulomb is about______ electrons

Watch Video Solution

117. Copper sulphate solution ______ stored in an iron vessel.

Watch Video Solution

118. I mole of electrons _______coulomb.

Watch Video Solution

119. Reduction takes place at_______ during electrolysis.

Watch Video Solution

120. Oxidation takes place at______ druing electrolyses.

https://dl.doubtnut.com/l/_2FVaUolzlYx2
https://dl.doubtnut.com/l/_yXzmj7PyZSW2
https://dl.doubtnut.com/l/_qzS4K6taw8Fc
https://dl.doubtnut.com/l/_Wr5fY8XTNz97
https://dl.doubtnut.com/l/_2BSifB6gXhci


Watch Video Solution

121. Electrolysis of molten sodium hydride liberates  gas

at the  .

Watch Video Solution

……………..

……………..

122. Equivalent conductance for strong electrolyte on dilution _______.

Watch Video Solution

123. Equivalent conductance for weak electrolyte on dilution ________.

Watch Video Solution

124. Specific conductance for strong electrolyte on dilution ________

Watch Video Solution

https://dl.doubtnut.com/l/_2BSifB6gXhci
https://dl.doubtnut.com/l/_C3fqGOYHcKaG
https://dl.doubtnut.com/l/_Q1YExKaPaPf0
https://dl.doubtnut.com/l/_jtf15EiLqFQS
https://dl.doubtnut.com/l/_tTTUP4W7bfrR


125. The conducting power of all the ions produced by 1 gm Molar law of

electrolyte in solution is called_____

Watch Video Solution

126. equivalent conductance = _____ × volume of the solution

Watch Video Solution

127. unit of specific conductance is______

Watch Video Solution

128. Fill in the blanks:
atomic weight=_______×equivalent weight

Watch Video Solution

https://dl.doubtnut.com/l/_tTTUP4W7bfrR
https://dl.doubtnut.com/l/_LIFGZvMAQYgA
https://dl.doubtnut.com/l/_atYELj7YsXfw
https://dl.doubtnut.com/l/_96PueMWU9Ome
https://dl.doubtnut.com/l/_TIqvaTTDQ2gO
https://dl.doubtnut.com/l/_Eevyt3EOj8lD


129. Chemical equivalent = _____ × electrochemical equivalent

Watch Video Solution

130. Fill in the blanks:
Platinum is an ______electrode.

Watch Video Solution

131. pH value of aqueous solution of Nacl after electrolysis is ________

Watch Video Solution

132. Fill in the blanks:
______substance do not allow the electric current to

pass through their aqueous solution in molten state

Watch Video Solution

https://dl.doubtnut.com/l/_Eevyt3EOj8lD
https://dl.doubtnut.com/l/_bCYMyeThxJ6i
https://dl.doubtnut.com/l/_GMROMYZLuc8E
https://dl.doubtnut.com/l/_OkeR5gq9lxyk


133. unit of electrochemical equivalent is_____

Watch Video Solution

134. 96500 Coulomb will deposite  of metal.

Watch Video Solution

………………….

135. Equivalent conductance _________ with dilution.

Watch Video Solution

136. Fill in the blanks:
specific conductance _____with dilution

Watch Video Solution

137. Fill in the blanks:
unit of molar conductance is_____

https://dl.doubtnut.com/l/_P5xCXzQzBUCJ
https://dl.doubtnut.com/l/_sJ6XgIZRvjmT
https://dl.doubtnut.com/l/_mJinGWlhC0JN
https://dl.doubtnut.com/l/_NfWQLBKLZJ97
https://dl.doubtnut.com/l/_OcGWQCR3exgj


Watch Video Solution

138. Fill in the blanks:
chemical equivalent=96500×_____

Watch Video Solution

139. charge carried by one mole of electron is_____

Watch Video Solution

140. 1 Faraday = ______ × 1 coulomb

Watch Video Solution

141. Fill in the blanks:
units of conductance________

Watch Video Solution

https://dl.doubtnut.com/l/_OcGWQCR3exgj
https://dl.doubtnut.com/l/_OXoVy1ClO0bz
https://dl.doubtnut.com/l/_Y24tlKf7pieQ
https://dl.doubtnut.com/l/_ZoWlRA0NuA4R
https://dl.doubtnut.com/l/_FfwzWGCGuuXN
https://dl.doubtnut.com/l/_1HJZOCPzVyBN


142. Statement true or false:
Specific conductance increases with dilution.

Watch Video Solution

143. Statement True or False:
A cell reaction is feasible if E° is zero

Watch Video Solution

144. Conductance of a I  solution is its equivalent conductance.


True / False

Watch Video Solution

cm3

145. for Daniel cell, E° = +1.5V. True / False

Watch Video Solution

https://dl.doubtnut.com/l/_1HJZOCPzVyBN
https://dl.doubtnut.com/l/_qQgeGYiZlLh3
https://dl.doubtnut.com/l/_T6OydMrt9hvd
https://dl.doubtnut.com/l/_k6bEFkNMiZIJ


146. Statement true or false:
 Unit of electrochemical equivalent is

kg/faraday

Watch Video Solution

147. Equivalent conductance for strong electrolyte on dilution decreases

rapidly. Is it true or false?

Watch Video Solution

148. Statement true or false:
 in an electrochemical cell reduction takes

place at anode

Watch Video Solution

149. Molar conductance for weak electrolyte on dilution decreases slowly.

Is it true or false?

https://dl.doubtnut.com/l/_WAyqhWr5NyBt
https://dl.doubtnut.com/l/_fXRwp86dPu8Q
https://dl.doubtnut.com/l/_9jV6eEIqtICH
https://dl.doubtnut.com/l/_dl3zLlBeNw2q


Watch Video Solution

150. Correct the statement:
 molten sodium chloride conducts electricity

due to the presence of electrons

Watch Video Solution

151. write unit of equivalent conductance.

Watch Video Solution

152. write unit of specific conductance.

Watch Video Solution

153. What is unit of molar conductivity or molar conductance ?

Watch Video Solution

https://dl.doubtnut.com/l/_dl3zLlBeNw2q
https://dl.doubtnut.com/l/_LlavdWe9n0Ar
https://dl.doubtnut.com/l/_fy5WfVm4iz64
https://dl.doubtnut.com/l/_Rh5NIvYpbhFW
https://dl.doubtnut.com/l/_JcxdOqufFKww


154. write the unit of cell constant

Watch Video Solution

155. If a spoon to be electroplated with silver , would it be made as

cathode or anode in the cell?

Watch Video Solution

156. what is a normal hydrogen electrode (NHE)?

Watch Video Solution

157. give example of fuel cells.

Watch Video Solution

https://dl.doubtnut.com/l/_JcxdOqufFKww
https://dl.doubtnut.com/l/_xmO5pDK0heqX
https://dl.doubtnut.com/l/_9xR4BEp66WUt
https://dl.doubtnut.com/l/_Xiz4ULUINZWZ
https://dl.doubtnut.com/l/_I4bcQhQjuWM3
https://dl.doubtnut.com/l/_Maj10MNbdNmg


158. An electrolyte conducts electricity due to movements of

ions(true/false).

Watch Video Solution

159. why  solution conducts electricity?

Watch Video Solution

NaCl

160. in an electrolyte cell oxidation occurs at anode and reduction at

cathode. (true/false)

Watch Video Solution

161. Give examples of weak electrolytes.

Watch Video Solution

https://dl.doubtnut.com/l/_Maj10MNbdNmg
https://dl.doubtnut.com/l/_suNZQS20ZIkW
https://dl.doubtnut.com/l/_NGGH93iKksei
https://dl.doubtnut.com/l/_OlB3lSRrM2qd
https://dl.doubtnut.com/l/_lObWkuVdzbMH


162. Give examples of weak electrolytes.

Watch Video Solution

163. how many electrons are present in 1C of electricity?

Watch Video Solution

164. How conductivity of semiconductor varies with temperature?

Watch Video Solution

165. What is the charge carried by one mole electron ?

Watch Video Solution

166. How electrochemiacl equivalent is related to chemical equivalent ?

Watch Video Solution

https://dl.doubtnut.com/l/_lObWkuVdzbMH
https://dl.doubtnut.com/l/_6vexqPbn0rOb
https://dl.doubtnut.com/l/_ZmKLsXKHFmC8
https://dl.doubtnut.com/l/_SfNsm3w9YXNl
https://dl.doubtnut.com/l/_GttTFIRCGzG8


Watch Video Solution

167. what will be formed at cathode when aqueous solution of  is

electrolysed?

Watch Video Solution

NaCl

168. what is the electrolyte used in lead storage battery?

Watch Video Solution

169. What is the value of one faraday ?

Watch Video Solution

170. what is the voltage of standard state reduction of  at 25° C?

Watch Video Solution

h+

https://dl.doubtnut.com/l/_GttTFIRCGzG8
https://dl.doubtnut.com/l/_LtGneS653brc
https://dl.doubtnut.com/l/_l4PueXazBvZi
https://dl.doubtnut.com/l/_dU817E4syjmJ
https://dl.doubtnut.com/l/_F5SkvYVpRm0w


171. Name the chemical substances used for silver plating.

Watch Video Solution

172. For the copper electrode the standard oxidation potential is -0.34V.

then find its reduction potential.

Watch Video Solution

173. What is the charge carried by 1 mole nitride ion?

Watch Video Solution

174. What is the ECE of Ag ?

Watch Video Solution

https://dl.doubtnut.com/l/_tgEfhg7nC4lX
https://dl.doubtnut.com/l/_hjBT4fGgeXSS
https://dl.doubtnut.com/l/_5a9oLk8gAJp8
https://dl.doubtnut.com/l/_2NImvMXuHYPX


175. How many moles of  will be liberated when 2 faradays of electricity

is passed through 0.1M `H_2SO_4 solution?

Watch Video Solution

H2

176. Statement true or false:
one Faraday of electricity is 96500 coulomb

Watch Video Solution

177. At which electrode  gas is liberated during electrolysis of molten

calcium hydride?

Watch Video Solution

H2

178. give one example of primary cell

Watch Video Solution

https://dl.doubtnut.com/l/_32eKAbDAKLOf
https://dl.doubtnut.com/l/_hl1F3XbUheIv
https://dl.doubtnut.com/l/_Q7K1pB5A8IC8
https://dl.doubtnut.com/l/_5fBfRRoL8I27
https://dl.doubtnut.com/l/_mVmDFoMYW1z5


179. Suggest a metal that can be used for cathodic protection of iron

against rusting.

Watch Video Solution

180. storage cells are which type of cell?

Watch Video Solution

181. State KohIrausch’s law.

Watch Video Solution

182. Give two applications of Kohlrausch Law.

Watch Video Solution

https://dl.doubtnut.com/l/_mVmDFoMYW1z5
https://dl.doubtnut.com/l/_Sxi2w12HTbjd
https://dl.doubtnut.com/l/_FFiY8kfvntsb
https://dl.doubtnut.com/l/_FRTgxSs8TX9L


183. Write the Nernst equation for a half cell reaction.

Watch Video Solution

184. What is galvanization ?

Watch Video Solution

185. What is electromotive force?

Watch Video Solution

186. What is cell constant?

Watch Video Solution

187. Write the Nernst equation for single electrode potential.

https://dl.doubtnut.com/l/_bqmrmRtZeDPU
https://dl.doubtnut.com/l/_EkDw7tax3j1f
https://dl.doubtnut.com/l/_CCCKS18FbHFD
https://dl.doubtnut.com/l/_BMamQiCmYiIh
https://dl.doubtnut.com/l/_nfYVQ8KVFZ9F


Watch Video Solution

188. Write the relationship between cell potential and equilibrium

constant.

Watch Video Solution

189. Define a strong electrolyte in the light of degree of ionisation.

Watch Video Solution

190. What are the electrolytic products of aqueous NaCl?

Watch Video Solution

191. What is preferential discharge theory?

Watch Video Solution

https://dl.doubtnut.com/l/_nfYVQ8KVFZ9F
https://dl.doubtnut.com/l/_qknJLsKgAvgR
https://dl.doubtnut.com/l/_o3prLGAqMBpw
https://dl.doubtnut.com/l/_AeAXWcG7E0cu
https://dl.doubtnut.com/l/_kYILYCpR2HyN


192. Which substance is used for Cu-plating?

Watch Video Solution

193. How does specific conductance vary with dilution?

Watch Video Solution

194. Define molar conductance.

Watch Video Solution

195. How is the density of H2SO4 affected in lead storage battery during

its use?

Watch Video Solution

https://dl.doubtnut.com/l/_kYILYCpR2HyN
https://dl.doubtnut.com/l/_gKRXBTCI3bio
https://dl.doubtnut.com/l/_995LFj5YdV2X
https://dl.doubtnut.com/l/_NPIPgDiX3STy
https://dl.doubtnut.com/l/_MXQD0ndqZvI3
https://dl.doubtnut.com/l/_gTmNBWRXy3Aj


196. List the advantages of using  fuel cell over ordinary cell.

Watch Video Solution

H2 − O2

197. State the factors that influence the value of cell potential of the

following cell: 

Watch Video Solution

Mg(s)∣∣Mg+ 2(aq)∣∣∣∣Ag+ (aq)∣∣Ag(s)

198. Predict the products of electrolysis in an aqueous solution of AgNO3

with silver electrodes.

Watch Video Solution

199. How much electricity is required for the oxidation of coulomb 1 mole

of  to 

Watch Video Solution

H2O O2

https://dl.doubtnut.com/l/_gTmNBWRXy3Aj
https://dl.doubtnut.com/l/_LTigNqlQuDru
https://dl.doubtnut.com/l/_Ozsvs7E2UFXQ
https://dl.doubtnut.com/l/_hxEdoZzVVCXf


200. On electrolysis of dilute sulphuric acid using platinum electrodes,

the product obtained at the anode will be:

Watch Video Solution

201. How would you determine the standard electrode potential of the

system  ?

Watch Video Solution

Mg2 + /Mg

202. Give examples of some metals that are extracted electrolytically.

Watch Video Solution

203. Write two applications of electrolysis.

Watch Video Solution

https://dl.doubtnut.com/l/_hxEdoZzVVCXf
https://dl.doubtnut.com/l/_Ph7yuus0q3vR
https://dl.doubtnut.com/l/_0CEKuVq7nHnS
https://dl.doubtnut.com/l/_TCYWTHp5Ehh3
https://dl.doubtnut.com/l/_y8VdYH3p6mmF


204. Calculate the quantity of electricity required to deposit  of

silver from  soln.


(At. Mass of Ag=108).

Watch Video Solution

0.108gm.

AgNO3

205. The specific conductance of a solution is 0.356  . The

conductance of this solution in a cell was 0.0268 . Calculate the

cell constant.

Watch Video Solution

ohm− 1 cm− 1

ohm− 1

206. If a current strength of 1 amp. is passed for 10 minutes in AgNO3

solution 4 gm Ag metal is deposited find the ECE of Ag.

Watch Video Solution

https://dl.doubtnut.com/l/_XqzlMbAXaGkl
https://dl.doubtnut.com/l/_Tr1PLPohCXtN
https://dl.doubtnut.com/l/_rN7Guya4BJDc


207. Explain standard hydrogen electrode (SHE).

Watch Video Solution

208. Define Kohlrausch's law: Write its one application.

Watch Video Solution

209. Express the relation among the conductivity of a solution in the cell,

the cell constant and resistance of solution in the cell.

Watch Video Solution

210. Fill in the blanks : On decreasing the concentration of a solution the

molar conductivity ………….. Of a weak electrolyte.

Watch Video Solution

https://dl.doubtnut.com/l/_rYVIQ3mm8tNL
https://dl.doubtnut.com/l/_ek24PWQfSJzw
https://dl.doubtnut.com/l/_No6w49qgdwRz
https://dl.doubtnut.com/l/_ee4gEdhC3OnZ
https://dl.doubtnut.com/l/_yXSpusgFtGjv


211. What is a primary cell? Given one example.

Watch Video Solution

212. why is it not possible to determine the potential of a single

electrode?

Watch Video Solution

213. write the overall cell reaction for lead storage battery.

Watch Video Solution

214. How is the cell potential related to the free energy change? state

meaning of each term used.

Watch Video Solution

https://dl.doubtnut.com/l/_yXSpusgFtGjv
https://dl.doubtnut.com/l/_LteS35kekM5h
https://dl.doubtnut.com/l/_ldeAEVWxYqO5
https://dl.doubtnut.com/l/_8NLIwmNCJnAT
https://dl.doubtnut.com/l/_3vvNBPpbpccu


215. why does the conductivity of a solution decrease with dilution?

Watch Video Solution

216. The molar conductance at infinite dilution for sodium acetate

,hydrochloric acid and sodium chloride are 91.0,425.9 and 126.4

 respectively at 298 k calculate the molar conductance of

acetic acid at infinite dilution.

Watch Video Solution

Scm2mol− 1

217. The conductivity of 0.20 M solution of KCl at 298 K is 0.248S  .

Calculate its molar conductivity.

Watch Video Solution

cm− 1

218. Under what condition, 

 or  ?Ecell = 0 ΔG = 0

https://dl.doubtnut.com/l/_3vvNBPpbpccu
https://dl.doubtnut.com/l/_6oPMfhB6R0Wp
https://dl.doubtnut.com/l/_TS0Dz7CcRQlv
https://dl.doubtnut.com/l/_nEmdkd3lhqMe


Watch Video Solution

219. A galvanic cell has electrical potential of 1.1 V. If an opposing potential

of 1.1 V is applied to this cell what will happen to the cell reaction and

current flowing through the cell?

Watch Video Solution

220. Blocks of magnesium metal are often strapped to the steel hulls of

ocean going ships in order to :

Watch Video Solution

221. what are electrolytes?

Watch Video Solution

https://dl.doubtnut.com/l/_nEmdkd3lhqMe
https://dl.doubtnut.com/l/_I2FV1QH5mUE1
https://dl.doubtnut.com/l/_rZoNWPo6dfGM
https://dl.doubtnut.com/l/_xHjUizUDnYkK


222. State and explain Faraday's 1st law of electrolysis.

Watch Video Solution

223. Explain Faraday's second law of electrolysis.

Watch Video Solution

224. Define electrochemical equivalent.

Watch Video Solution

225. Define degree of dissociation.

Watch Video Solution

226. What is anodic protection ?

https://dl.doubtnut.com/l/_chwvzXEv09he
https://dl.doubtnut.com/l/_ZHBjI7I3v8sS
https://dl.doubtnut.com/l/_lMhYZdBLgZsC
https://dl.doubtnut.com/l/_zfSSu4dDIWx7
https://dl.doubtnut.com/l/_lXRXzX5HCdUl


Watch Video Solution

227. Which factors affect the conductivity of electrolytic solution?

Watch Video Solution

228. How does molar conductivity vary with dilution of the solution?

Watch Video Solution

229. why ordinary dry cells are not rechargeable?

Watch Video Solution

230. Define emf of a cell or cell potential .

Watch Video Solution

https://dl.doubtnut.com/l/_lXRXzX5HCdUl
https://dl.doubtnut.com/l/_N2iwGahd5CvA
https://dl.doubtnut.com/l/_Ld21wlu9QNEc
https://dl.doubtnut.com/l/_h8eCvAlo8tro
https://dl.doubtnut.com/l/_snOmkWa4FjOL
https://dl.doubtnut.com/l/_de3D0Hptm4lr


231. What is the function of a salt bridge?

Watch Video Solution

232. Write two applications of electrochemical series.

Watch Video Solution

233. What is electrochemical series ?

Watch Video Solution

234. Define cell potential.

Watch Video Solution

235. How electrode potential increases of an electrode ?

https://dl.doubtnut.com/l/_de3D0Hptm4lr
https://dl.doubtnut.com/l/_BsWbO7IP0Idd
https://dl.doubtnut.com/l/_ymSVwVH1oA7e
https://dl.doubtnut.com/l/_0HU4ctSRnAdH
https://dl.doubtnut.com/l/_fiC6jOwpTyAA


Watch Video Solution

236. Name the factors which influence the numerical value of electrode

potential.

Watch Video Solution

237. What is standard electrode potential ?

Watch Video Solution

238. What is the electrode potential?

Watch Video Solution

239. What is fuel cell?

Watch Video Solution

https://dl.doubtnut.com/l/_fiC6jOwpTyAA
https://dl.doubtnut.com/l/_EFSIVa3IquDy
https://dl.doubtnut.com/l/_a6St85u75Le8
https://dl.doubtnut.com/l/_i1k4R2pYAMio
https://dl.doubtnut.com/l/_tVEYOyjP2vff


240. Define Galvanic-cell or Voltaic-cell.

Watch Video Solution

241. 20 ampere current is flowing through  solution for 60

minutes. Find the amonut of cupper deposited. (At .wt. of Cu = 63.5)

Watch Video Solution

CuSO4

242. Calculate the value of Molar conductivity of  at infinite

dilution if

Watch Video Solution

MgCl2

λMg2 + = 107.12ohm− 1cm2mol− 1 and λCl− 1 = 76.34ohm− 1cm2mol− 1

https://dl.doubtnut.com/l/_tVEYOyjP2vff
https://dl.doubtnut.com/l/_KJib0ZyLmBA8
https://dl.doubtnut.com/l/_rFrnZGwUIzEv
https://dl.doubtnut.com/l/_rmYnd0XGblNE


243. Calculate the normality of KCI solution having resistance 2000 ohm.

The cell constant is  and the equivalent conductance is 

.

Watch Video Solution

5.53cm− 1

138.25ohm− 1cm2eq− 1

244. 0.2 amp current flowing for 15 minutes deposits copper of 0.1978gm.

Find the electro chemical equivalent of copper

Watch Video Solution

245. How much time is required to pass 18000 coulombs of electricity

through an electrolyte if the current strenght is 10 amperes ?

Watch Video Solution

246. I coulomb of charge contains how many number of electrons ?

https://dl.doubtnut.com/l/_w5i3TQB8GvWH
https://dl.doubtnut.com/l/_MrDLxjaPRxuH
https://dl.doubtnut.com/l/_T4XxfWsIdwU9
https://dl.doubtnut.com/l/_U8KTKOFizRnb


Watch Video Solution

247. Calculate the electrochemical equivalent of oxygen.

Watch Video Solution

248. The conductivity of 0.20 M solution of KCl at 298 K is 0.248S  .

Calculate its molar conductivity.

Watch Video Solution

cm− 1

249. In an electrolytic cell 10 gm of chlorine is liberated from NaCl

solution in 30 minutes. Find the amount of current passed.

Watch Video Solution

https://dl.doubtnut.com/l/_U8KTKOFizRnb
https://dl.doubtnut.com/l/_4I6g15hIwDGt
https://dl.doubtnut.com/l/_vQyupjLCV6Pe
https://dl.doubtnut.com/l/_DzCDIpaAn33A


250. How many coulombs of electricity are required for reduction of 1 mol

of  to Cu ?

Watch Video Solution

Cu2 +

251. How many coulombs of electricity are required for oxidation of 1 mol

of  to ?

Watch Video Solution

H2O O2

252. How many moles of electrons are given by 45 coulombs ?

Watch Video Solution

253. How many moles of electrons are required to produce 10 gm of 

from molten ?

Watch Video Solution

Al

Al2O3

https://dl.doubtnut.com/l/_yH1DseAMMuJR
https://dl.doubtnut.com/l/_Wy29Ffs69p8a
https://dl.doubtnut.com/l/_bUcXQciN2trm
https://dl.doubtnut.com/l/_PwMjaxFVSKLv


254. Calculate the electrode potential given that E° =

, when a zinc rod is dipped in 0.1 M solution of .The salt is

95% dissociated at this solution at 298K.

Watch Video Solution

(Zn2 + /Zn)

−0.76V ZnSO4

255. Calculate the value of equilibrium constant for the reaction at 298 k.

 


(Ag2+/Ag)  


and Cu2+/Cu

Watch Video Solution

Cu(s) + 2Ag+ (aq) → Cu2 + (aq) + 2Ag(s)

E ∘ = 0.80V

E ∘ ( ) = 0.34V

256. The ∆G° for the Danielle cell has been found to be - 212.3 kJ at 25°C.

Calculate the equilibrium constant for the cell reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_PwMjaxFVSKLv
https://dl.doubtnut.com/l/_uZXdUGnUAb2P
https://dl.doubtnut.com/l/_xb3DuHc3TF6k
https://dl.doubtnut.com/l/_dIl4vXwO2CrX


257. Define conductivity and molar conductivity for the solution of an

electrolyte . Discuss their variation with concentration.

Watch Video Solution

258. Calculate the EMF of following cell at 298K




 = - 0.41V,  = +0.80V

Watch Video Solution

Fe(s)∣∣Fe
2 + (0.1M)∣∣∣∣Ag

+ (0.1M)∣∣Ag(s)

Fe2 + ∣ Fe Ag+ ∣∣Ag

259. What are fuel cells ? Write the electrode reaction of a fuel cell which

uses the reaction of hydrogen with oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_OmhQWFGy3pe1
https://dl.doubtnut.com/l/_NfzBhpMueAk1
https://dl.doubtnut.com/l/_WianpRdNlckC


260. The specific conductance of a 0.12N solution of an electrolyte is

  Calculate its equivalent conductance.

Watch Video Solution

2.4 × 10− 2 ohm− 1cm− 1

261. what is corrosion? Describe the role of zinc in cathodic protection of

iron can we use tin in place of zinc ?Explain.

Watch Video Solution

262. How many grams of silver could be plated out on a shield by

electrolysis of a solution containing  ions for a period of 4 hours at

a current strength of 8.5 amperes? [Molar mass of =107.8g]

Watch Video Solution

Ag+

Ag

https://dl.doubtnut.com/l/_1FLzMPXf9im4
https://dl.doubtnut.com/l/_zcuC0bNDuDs3
https://dl.doubtnut.com/l/_UYtCUVP59Ksc


263. How much copper is deposited on the cathode if a current of 5 A is

passed throgh a solution of  for 45 minutes ?

Watch Video Solution

CuSO4

264. Explain why electrolysis of aqueous solution of  gives  at

cathode and  at anode.

Watch Video Solution

NaCl H2

Cl2

265. calculate the minimum P.D. to reduce  500°C. [Given ∆G=+960

kj,1F=96,500C ]

Watch Video Solution

Al2O3

mol− 1

266. molar conductance of 1.5 M solution of an electrolyte is 138.9

. Find the specific conductance.Scm2Mol− 1

https://dl.doubtnut.com/l/_xc4feP6OrpHV
https://dl.doubtnut.com/l/_TGiAQ5qs1tNa
https://dl.doubtnut.com/l/_FHmCCA8ns7Jo
https://dl.doubtnut.com/l/_AVPGIFLNvEEv


Watch Video Solution

267. write two differences between primary cells and secondary cells.

Watch Video Solution

268. Write the cell reaction which occur in lead storage battery:(1) when

the battery is in uses (2)and when the battery is on charging.

Watch Video Solution

269. Iron does not rust when coating is broken in a galvanised iron pipe

but rusting occurs if coating of tin over iron is broken. Explain.

Watch Video Solution

270. State two advantages of  fuel cell over ordinary cell.

W h Vid S l i

H2 − O2

https://dl.doubtnut.com/l/_AVPGIFLNvEEv
https://dl.doubtnut.com/l/_MBnRtzQ8b7dY
https://dl.doubtnut.com/l/_l7onUgXg9uWG
https://dl.doubtnut.com/l/_Lz68zgI1jafZ
https://dl.doubtnut.com/l/_1Onu2pACqpRC


Watch Video Solution

271. Predict the products of electrolysis in each of the following ? 

A dilute solution of  with platinum electrodes.

Watch Video Solution

H2SO4

272. State and explain Faraday’s laws of electrolysis.

Watch Video Solution

273. State and explain Faraday's laws of electrolysis. How many grams of

chlorine will be produced by the electrolysis of molten sodium chloride

with a current of 5.5 A for 25 min?

Watch Video Solution

https://dl.doubtnut.com/l/_1Onu2pACqpRC
https://dl.doubtnut.com/l/_bAmFrqrS6YqI
https://dl.doubtnut.com/l/_auJE2WOwTobx
https://dl.doubtnut.com/l/_a5Hsofe0Bjnp


274. Define and explain electrochemical equivalent.How is it related with

chemical equivalent of the substance ?

Watch Video Solution

275. Define electrochemical equivalent and chemical equivalent. How are

they related with each other ? A current of 5 amperes is passed through

an electrolyte for 15 minutes when 3 gms of the metal was deposited.

Calculate the electrochemical equivalent of the metal.

Watch Video Solution

276. Define 'specific conductance' and 'equivalent conductance'. How are

they related with each other? Discuss the effect of dilution on the

conductance of an electrolyte.

Watch Video Solution

https://dl.doubtnut.com/l/_W5s1BMOiw2qM
https://dl.doubtnut.com/l/_auulEWtvfh0H
https://dl.doubtnut.com/l/_2pUboPBBuI0k
https://dl.doubtnut.com/l/_sa20sofLkdE8


277. A  solution of  has a specific conductance of 

. Calculate the equivalent conductance of the

solution.

Watch Video Solution

0.1N NaCl

0.00112ohm− 1cm− 1

278. State and explain Kohlrausch's law of independeat migration of ions.

Watch Video Solution

279. State and explain Kohlrausch's law. How can this law be used to find

equivalent conductance of acetic acid at infinite dilution?

Watch Video Solution

280. write a short note on : (a) kohlrausch's law

Watch Video Solution

https://dl.doubtnut.com/l/_sa20sofLkdE8
https://dl.doubtnut.com/l/_xdsH8buQ5zS2
https://dl.doubtnut.com/l/_7d4JjaUGAegI
https://dl.doubtnut.com/l/_r70NVaLHSNGJ


281. (b) Galvanic cell

Watch Video Solution

282. Define electrode potential and Nernst equation.

Watch Video Solution

283. Write notes on 

(i) Electroplating 

(ii) Electrorefining 

(iii) Galvanic cell 

(iv) Electrotyping 

(v) Electrochemical series.

Watch Video Solution

https://dl.doubtnut.com/l/_xpbN4uBBR8ti
https://dl.doubtnut.com/l/_yEZWtp0F3TSJ
https://dl.doubtnut.com/l/_2leivWUZfBKD


284. How does molar conductivity vary with concentration for weak and

strong electrolyte ?

Watch Video Solution

285. The resistance of a conductivity cell containing 0.001 M KCl solution

at 298 K is 1500 . What is the cell constant if the conductivity of 0.001 M

KCl solution at 298 K is  ?

Watch Video Solution

Ω

0.146 × 10− 3Scm− 1

286. How does molar conductivity vary with concentration for weak and

strong electrolyte ?

Watch Video Solution

https://dl.doubtnut.com/l/_yjXvfLpgs8Qc
https://dl.doubtnut.com/l/_lQrtnWQr6Mnw
https://dl.doubtnut.com/l/_pj6zbDWEn47S


287. Calculate the emf of the cell in which the following reaction takes

place, 

 


Given that 

Watch Video Solution

Ni(s) + 2Ag+ (0.002M) → Ni2 + (0.160M) + 2Ag(s)

E ∘
cell

= 1.05V

288. State and explain Kohlrausch's law. How can this law be used to find

equivalent conductance of acetic acid at infinite dilution?

Watch Video Solution

289. Three electrolytic cells A,B and C containing solutions of zinc

sulphate, silver nitrate and copper sulphate, respectively are connected in

series. 

A steady current of 1.5 A was passed through them until 1.45g of silver

deposited at the cathode of cell B. How long did the current flow? What

https://dl.doubtnut.com/l/_FyG9HSWwOtUw
https://dl.doubtnut.com/l/_begskLjemaKi
https://dl.doubtnut.com/l/_7RORPb1MaZ6w


mass of copper and zinc were deposited in the concerned cells? ( Atomic

mass of Ag= 108, Zn = 65.4, Cu = 63.5)

Watch Video Solution

290. Resistance of a conductivity cell filled with 0.1 M  solution is 100

ohms. If the resistance of the same cell when filled with 0.02 M 

solution is 520 ohms, calculate the conductivity and molar conductivity of

0.02 M  solution. (The conductivity of 0.1 M  solution is 1.29 

).

Watch Video Solution

KCl

KCl

KCl KCl

Sm− 1

291. The electrical resistance of a column of 0.05 M NaOH solution of

diameter 1 cm and length 50 cm is 5.55 . Calculate its resistivity,

conductivity and molar conductivity.

Watch Video Solution

× 103Ω

https://dl.doubtnut.com/l/_7RORPb1MaZ6w
https://dl.doubtnut.com/l/_GzO5QuTUyQqx
https://dl.doubtnut.com/l/_RcveJOqTOKXJ
https://dl.doubtnut.com/l/_DC0IWCKKHHEG


292. State and exlain Kohlarausch.s law of independent migration of ions .

The equivalent conductance of infinite dilution  for sodium acetate ,

sodium chloride and hydrochloric acid are 78, 109 and 384  g. 


Calculate the  of acetic acid .

Watch Video Solution

(A0)

ohm− 1cm2

A0

https://dl.doubtnut.com/l/_DC0IWCKKHHEG

